
35

1
6

2
8

2
4

16

8 6

2
8

4

5

°

35

1
6

2
8

2
4

16

2
8

32

38

17.5 32

100 MIN.

400

35

1
6

2
8

2
4

16 8 6

2
8

100 MIN.

356

35

1
6

2
8

2
4

16

2
8

100 MIN.

640

GUARDRAIL BOLT AND RECESSED NUT

1:2.5

M16 x 2 THREAD PITCH

R = 35

M16 x 2 THREAD PITCH

M16x2 MODIFIED

HEAVY NUT

25 Ø x 1.5 mm DEEP

RECESS BOTH SIDE

R = 35

M16 x 2 THREAD PITCH

4

5

°

M16 x 2 THREAD PITCH

4

5

°

8 6

R = 35

R = 35

4

5

°

8 6

320

50 50

EQEQ

RAIL SPLICE DETAIL

1:20

LAP IN DIRECTION OF ADJACENT

TRAFFIC MOVEMENT (8 SPLICE

BOLTS PER LAP)

23 x 29 SLOTS ONE SPLICE BOLT

REQUIRED FOR EACH POST

154

2
0

6

77

1
5

2

1
5

2
5

4
3

6

7
6

2
5

6

620

234 152 234

4
6

8

2
3

4
2

3
4

CABLE ANCHOR TERMINAL FOUNDATION TUB

SIDE ELEVATION

1:20

PLAN

1:20

SOIL PLATE

1:20

FRONT ELEVATION

1:20

HSS 203 x 152 x 4.8

22Ø HOLE FOR MOUNTING

ANGLE STRUT

22 Ø HOLE FOR

MOUNTING SOIL PLATE

22 Ø HOLE TYP.

669

2
5

4

318

R

4

9

2

83

3
1

1

9
7

9
7

4
8

0

786

158 628

2
4

0
2

4
0

108 108

--

B

B

- -

SECTION B

N.T.S.

THICKNESS OF STEEL = 2.82mm

AFTER GALVANIZED

BLANK LAYOUT

1:20

ELEVATION

1:20

PLAN

1:20

W-BEAM GUARDRAIL END SECTION

STAMP

MARKING

19 X 63 SLOTTED HOLE

4 - 22 X 28 SLOTTED HOLES

4
0

180

2000

50

130

10

CABLE TO BE SWAGE-CONNECTED

50

2
6

400

50 100 100

100 50

END PLATE

10

3

5

°

70 41

2

6

5

8

6

4
5

2
.
5
°

70

7
6

1
0

35

3
8

200

100 100

2
0

0

7
5

1
2

5

4

200 x 200 x 6 PLATE

3
2

M24 x 3 PITCH THREAD (BOTH ENDS)

19 Ø (6 x 19) CABLE

--

C

C

- -

SECTION

NTS

W-BEAM CABLE ANCHOR TERMINAL HARDWARE

BCT CABLE ANCHOR ASSEMBLY

NTS

WASHER

NTS

END PLATE

NTS

BRACKET

NTS

BCT BEARING PLATE

NTS

WASHER

M24 x 3 NUT

M24 x 3 NUT

WASHER

STD. SWAGE FITTING & STUD

(STUD THREADED ENTIRE

LENGTH)

20 Ø HOLES400 x 320 x 6 BENT PLATE

END PLATE

R = 10

R = 24

28 Ø HOLE

28 Ø HOLE

5

5

°

5

5

°

5

5

°

5

5

°

83

47

39

3
1
1

1
4

8
3

2

6

A

- -

SECTION

NTS

9.5 R

R = 24

50 215

158 952.5 1905 952.5 158

4126

EFFECTIVE LENGTH = 3810

A FINISHED THICKNESS OF RAIL TO BE 2.82 mm

NOMINAL STEEL AND HOT DIPPED GALVANIZED

AFTER FABRICATION

--

A

ELEVATION - W-BEAM

NTS

3 - 19 x 63 SLOTTED HOLES

16 - 23 x 29 SLOTTED HOLES

  RAIL

TRAFFIC FLOW

933 933 1905

3810

TYPICAL W-BEAM

GUARDRAIL JOINT

953

TYPICAL STRONG

POST SPACING

RAIL

6
3
2

2
3
0

610 x 460 x 6 SOIL PL

C/W 2 - 19 Ø x 240 LONG BOLT. NUT

& 2-HIGH STRENGTH WASHERS TYP.

1525 LONG FOUNDATION TUBE TYP.

4
3
0

7
5

M
A

X
.

GROUND SURFACE

POST

3810

CABLE ANCHOR TERMINAL ELEVATION

NTS

PLAN

NTS

WING END TERMINAL SECTION

W-BEAM GUARDRAIL

BCT CABLE ANCHOR BRACKET

152 x 203 WOOD

POST TYP. P.T.

19 Ø ANCHOR

CABLE

W150 x 14 x 1830 STEEL POST

152 x 305 x 356 WOOD SPACER P.T.

1160 LONG TREATED

BREAKAWAY TIMBER POST

50 Ø x 150 STANDARD SCHEDULE

PIPE SLEEVE INSIDE 64 Ø HOLE

BCT BEARING PLATE

4 - 16 Ø SPLICE BOLTS

WITH NUTS

BCT CABLE ANCHOR BRACKET

1160 LONG TREATED TIMBER POST

W 150 x 14 x 1830 STEEL POST

POSTPOST POST

L75 x 75 x 6 ANGLE

STRUT

U/S OF WOOD POST

10  (MAX.)

1

OHSS POST

1219 DIA. PILE

1
8
3

0

7
8

7

300 Ø POST HOLE

2%

3700

A

117118

GUARDRAIL SECTION

1:20

426

BACK FILL VOID WITH GRANULAR

102 x 191 x 350 NEOPRENE SPACER

W BEAM GUARD RAIL

ROAD SURFACE

W150 x 14 STEEL POST

POST

REMOVE EXIST. CURB

3700 SB LANE550

SB LANE

AS NOTED

AS NOTED

N/A

2013/08/08

12-6606

0 ISSUED FOR TENDER 13/08/08 MRD

               WARNING

IF POWER EQUIPMENT OR EXPLOSIVES ARE TO

BE USED FOR EXCAVATION ON THIS PROJECT

THE CONTRACTOR MUST:

1. NOTIFY THE GAS COMPANY OF THE

PROPOSED LOCATION OF EXCAVATION.

2. TAKE PRECAUTION TO AVOID DAMAGE TO

GAS COMPANY INSTALLATIONS SEE

PROVINCIAL REGULATION 210/72 FOR

DETAILS.

3. OBTAIN EXCAVATION PERMITS PRIOR TO

CONSTRUCTION.

4. A MINIMUM VERTICAL SEPARATION OF 300 mm

FROM GAS MAINS AND 100 mm FROM GAS

SERVICE MUST BE MAINTAINED BETWEEN

ANY MANITOBA HYDRO FACILITY AND ANY

NEW INSTALLATIONS.

5. A MINIMUM 900 mm OF COVER SHALL BE 

MAINTAINED IN ALL AREAS WHERE

EQUIPMENT WILL BE CROSSING, TRAVELING

OR COMPACTING OVER THE HIGH PRESSURE

GAS MAINS.

6. IF EQUIPMENT MUST CROSS, TRAVEL, OR 

COMPACT OVER THE GAS MAIN WITH LESS

THAN THE MINIMUM DEPTH COVER, EARTH

BRIDGING OR STEEL PLATES SHALL BE

PLACED OVER THE MAIN AND EXTEND A

MINIMUM OF 1.0 METRE ON EITHER SIDE AT

EACH CROSSING LOCATION.

METRIC

WHOLE NUMBERS INDICATE MILLIMETRES

DECIMALIZED NUMBERS INDICATE METRES

 B242-13-

128

WAVERLEY WEST ARTERIAL ROADS PROJECT

(WWARP) PART 3 - CONTRACT 2

ROUTE 90 TO ROUTE 165 OVERPASS (KENASTON BLVD.)

AND ASSOCIATED WORKS

S772 - GUARDRAIL DETAILS

 

LFY

 

 

AS NOTED

AS NOTED

118

118

S772-2013-04


	c2-sET2OF2

